

1

2

3

3

△

Scanned with CamScanner

$a_r = a_1 \cdot r^{n-1} \rightarrow q_{n-1} = a(n+d)(n-d) + r a(n-d) = a n^2 - a d^2 + r a n - r a d$
 $a_r = a + d$
 $a_1 = a - d$
 $\Rightarrow b = \underbrace{r a^2}_a - \underbrace{r^2 d a}_b - \underbrace{a d^2}_c \xrightarrow{! \text{ لذا}} \Delta = b^2 - 4ac = 4d^2 + 4d^2 = 49d^2$
 $\rightarrow a = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{r d \pm \sqrt{49d^2}}{r}$
 $\rightarrow a_f = a + r d \rightarrow \begin{cases} 1, 0d + r d = r d = a_f \\ -r d + r d = d = a_f \end{cases}$
 $\rightarrow \frac{a_f}{d} \rightarrow \begin{cases} \frac{r d}{d} = r, d \\ \frac{d}{d} = 1 \end{cases}$
 $\rightarrow \begin{cases} a = r d = a_r \\ a_1 = -d = a_r \end{cases} \Rightarrow a = a_r - d \rightarrow \begin{cases} a = 1, 0d \\ a = -r d \end{cases}$

6

$a, b, c \xrightarrow{\text{مسألة}} b = \frac{a+c}{r} \Rightarrow \frac{c}{r} = q = \frac{c}{r a} = \frac{a}{a+c} \xrightarrow{\text{لضرب}} c^2 + ac = r a^2$
 $\rightarrow c^2 + ac - r a^2 = 0$
 $q a^2 = \Delta = b^2 - 4ac = a^2 + 14a^2$
 $\rightarrow C = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-a \pm \sqrt{9a^2}}{r} \rightarrow \begin{cases} c = -2a \\ c = a \rightarrow \text{مغلق} \end{cases}$
 $\rightarrow q = \frac{c}{a} = \frac{-2a}{a} = -2$
 $\rightarrow q = \frac{c}{a} = \frac{-2a}{a} = -2$
 $\rightarrow q = \frac{c}{a} = \frac{-2a}{a} = -2$

7

$b^2 = ac \quad 3b+c = fa \Rightarrow b = \frac{fa-c}{r} \xrightarrow{\text{لضرب}} b^2 = \frac{14a^2 + c^2 - 14ac}{q} \Rightarrow \frac{14a^2 + c^2 - 14ac}{q} = ac$
 $\rightarrow 14a^2 + c^2 - 14ac = qac \rightarrow \frac{14a^2 + c^2 - 14ac}{q} = 0 \rightarrow \Delta = b^2 - 4ac = 219c^2 - 4(14)(c^2) = 225c^2$
 $\rightarrow a = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-14c \pm 15c}{22} = \frac{c}{22}$
 $\rightarrow a = \frac{14c - 15c}{22} = \frac{-1c}{22} \rightarrow \frac{c}{a} = q = \frac{c}{\frac{-1c}{22}} = -22$
 $\rightarrow q = -22$
 $\rightarrow q = -22$

8

$\frac{a_q}{(a_r)^3} + \frac{a_r}{a_1^3} \Rightarrow \frac{a_q^3}{a_r^3} = \frac{q^3}{a_r^3}, \frac{a_q}{a_r^3} \rightarrow \frac{q^3 + a_q}{a_r^3} = r \rightarrow \frac{q^3 + a_q}{a_r^3} - \frac{r a_r^3}{a_r^3} = 0$
 $\rightarrow a = \frac{-q \pm \sqrt{q^2 - 4r}}{2r} = \frac{-q}{r}$
 $\frac{a_r}{a_q} = \frac{a}{q} \rightarrow \begin{cases} a = \frac{-q}{r} \rightarrow \frac{-q}{r} = \frac{-1}{r} = \frac{a_r}{a_q} \\ a = q \rightarrow \frac{a_r}{a_q} = \frac{q^3}{q^3} = 1 = \frac{a_r}{a_q} \end{cases}$

9

$a_0 = rV \rightarrow a_f = \frac{rV}{q}, a_r = \sqrt{a_f} \rightarrow \frac{rV}{q^2} = \sqrt{\frac{rV}{q}} = \frac{r\sqrt{V}}{\sqrt{q}} \xrightarrow{\text{لضرب}} \frac{r^2 V}{q^2} = \frac{r^2 V}{q} \rightarrow rVq = q^2$
 $\rightarrow a_0 = a_1, q^2 = rV \rightarrow \frac{rV}{q^2} = a_1 \rightarrow \frac{rV}{11} = a_1 = \frac{1}{r} \rightarrow \frac{1}{r} - \frac{1}{r} = \frac{r-r}{r} = \frac{1}{q}$
 $\rightarrow \frac{1}{q} = \frac{1}{r} \rightarrow \frac{1}{q} = \frac{1}{r}$

10